
Mrs. Saroney’s Anticipated Solutions
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ANTICIPATING STUDENT RESPONSES

Figure 3.8  •  Solutions to the Pizza Party task generated by Mrs.  Saroney 
and her colleagues

A. Visual—Double Number Line

0

Servings of Pizza

1 2 3 4 5
Number of Pizzas

1 2 3 4 5 6 7

The green line is the amount it takes to make a serving and the red line is the amount left.

So there are 7 full servings and 1
4  of another serving.

B. Visual—Tape Diagram

2/3

¼ of what is needed
for the next servings

2/3 2/32/3

2/3 2/32/3

7
1
4  servings

C. Numeric—Ratio Table (Pizza per Serving)

Number of Servings 1 2 3 4 5 6 7

Amount of Pizza
2
3

11
3 2 22

3
31
3 4 4 2

3

7 servings requires 4 2
3

 pizzas. But you have 4 5
6

 pizzas. So you have 16  of a pizza left over, 

which is 1
4  of a serving. So you have 71

4
 servings.

D. Numeric—Ratio Table (Servings per Pizza)

Number of Pizzas 1 2 3 4 4 5
6

Number of Servings 11
2 3 41

2
61

2
71
4

1 pizza gives you 11
2

 servings, and 2 pizzas give you 3 servings, which is twice as many. So 

there is a pattern—you multiply the amount of pizza you have by the number of servings per 

pizza. This would be ×4 15
6

1
2

 or ×29
6

3
2 .

This is the traditional algorithm for dividing fractions—keep, change, flip.

(Continued)
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C. Tape Diagram

ANTICIPATING STUDENT RESPONSES

E. Numeric – Repeated Addition and Repeated Subtraction

+ =2
3

2
3

4
3  or 11

3
 pizzas

+ =4
3

2
3

6
3  or 2 pizzas

+ =6
3

2
3

8
3

 or 22
3

 pizzas

+ =8
3

2
3

10
3

 or 31
3

 pizzas

+ =10
3

2
3

12
3  or 4 pizzas

+ =12
3

2
3

14
3  or 4 2

3 pizzas

You keep adding 23 until you use up the pizza. 
Since there was 4 5

6
 pizza, you cannot get 

another serving once you get to 4 2
3  pizzas. At 

that point, you have added 23  seven times. You 
have 16  of the pizza that you have not used. This 
is 1

4  of a serving.

=4 5
6

29
6

=2
3

4
6

− =29
6

4
6

25
6

− =25
6

4
6

21
6

− =21
6

4
6

17
6

− =17
6

4
6

13
6

− =13
6

4
6

9
6

− =9
6

4
6

5
6

− =5
6

4
6

1
6

You subtracted 
4
6  seven times. So there are 7 

servings. There is 16  of a pizza left. The 16 of a 
pizza represents 14  of a serving.

F. Physical Model—Pattern Blocks
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This is ¼ of a serving 

Each hexagon would represent a pizza. Students might partition the hexagons into sixths using 
the green triangles. (Students could also partition the hexagons into thirds using the blue 
rhombus.) The answer is 71

4
 servings.

G. Physical Model—Fraction Tiles

1/6 1/6 1/6 1/6 1/6 1/6

1/6 1/6 1/6 1/6 1/6 1/6

1/6 1/6 1/6 1/6 1/6 1/6

1/6 1/6 1/6 1/6 1/6 1/6

1/3 1/3 1/3 1/3 1/3 1/3

1/3 1/3 1/3 1/3 1/3 1/3

1/6 1/6 1/6 1/6 1/6 1/6

1/3 1/3 1/3

Figure 3.8 (Continued)

7 servings with 16  of a pizza left over.
1
6  of a pizza is 1

4  of a serving.

So there are 71
4

 servings.
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D. Fraction Tiles

E. Visual Model


